

ICPS Disposal State

[bookmark: _GoBack]Below is the ICPS Disposal State right after disposal burn. 


Both parameterizations are in J2000:

Classical Elements:
Semimajor axis (km) = 2.059547723265584E+05
Eccentricity = 9.667080033831439E-01
Inclination (deg) = 2.860654780031044E+01
Right Ascension of the Ascending Node (deg) = 6.595689658822360E+01
Argument of Perigee (deg) = 4.791616744206894E+01
True Anomaly (deg ) = 1.224710758805222E+02

Cartesian:
Rx(km) = -1.501540312811781E+04
Ry(km) = -2.356897680091111E+04
Rx(km) = 2.241504923500546E+03
Vx(km/s) = -4.855378922082240E-01
Vy(km/s) = -5.048763191594085E+00
Vz(km/s) = -8.799883161637991E-01

Time in Barycentric Dynamical Time (TDB):
Julian Date = 0.24581031227118D+07 
Calendar Date = DEC 15,2017  14:56:42.2



1) KSC Flyout - We do our analysis at an inclination of 28.5, but it varies throughout the launch window due to the changing geometry.
2) Lunar Transfer Time For State – The state is for the center of the launch window so it will be in the middle of the 3.5 to 8.5 day bounds, somewhere on the order of 6 days.
3)  ACS Disposal Delta-V - For the DRO, it's nominally about 7-8 m/s. This is several minutes of a burn due to the low thrust of the ACS. It's definitely measureable. If we don’t do the disposal maneuver then we run the risk of hitting the moon.
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